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The inverse sine of x

. -1 .
y=8sm x means X =smy

where —ggyﬁg and —-1<x<1

1y T Vid
sin 1(smu) =u where —-<u<™
2 2

sin(sin_1 v) =v where -1<v<1

Characteristics of y = sin”'x

Domain of y = sin” x is the Range of y =sinx:
-1<x<1
Range of y =sin”" x is the Domain of y = sinx:

T T
eyt
2-r7)

y= sin”'x —

Find the exact value of y = sinl(?)

0=s1n_1(J —ESHSE
2 2
sing="3 Tep<”
2 2 2
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Find the exact value of sin_l(_zﬁ).
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The inverse cosine of x

y= cos'x means x= cosy

where 0<y<7 and -1<x<1

cos_l(cosu) =u where O0<u<rm

Characteristics of y = cos ! x

Domain of y=cos_1xis the Range of y = cosx:
—-1<x<1

Range of y = cos ! x is the Domain of Y =COSX:

0<y<rm

cos(cosf1 v) =v  where -1<v<1
(-L7) T
. -1
_ly=cos x
1.76°
(0.1)
0.38 + Yy =C0Sx
I —-eo } |
-1 038 (1,0) 1. s
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Find the exact value of cosl(?).

0= cos_l(ﬁ) where 0<@<r
where 0<0<r

cosf =

0:

oy N‘S‘ ®o

2

Find the exact value of cosl(2 .

0= cos_l(f) where 0<@<r

cos&zf where 0<60<rx

o=""
4

-7. 0 7.85
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The inverse tangent of x

y= tan'x means x= tan y

Vs Vs
where —§<y<§ and —o0<x<o0

_ T T
tan 1(tanu)zu where —5<u<5

tan(tanf1 v) =v  where —00 <Y<

Characteristics of y = tan"! x

Domain of y = tan " x is the Range of y = tanx:
—00< X <0
Range of y = tan " x is the Domain of y=tanx:

r_ .7
)




Find the exact value of tan_l(— «B)

0= tan_l(— ﬁ) where —§< ¢9<§

tand=—/3 where —§<9<§

Find the exact value of csc(cosf1 D

1

0 =cos where 0<0<r

FNg—

cosé’:l
4

030<£ since cos«9=1>0
2 4

yA Y +12=4>=16
y =15

6 ~15 15
1 X

csc(cos_1 1) =cscf=——
4

Use a calculator to approximate sec™' 2

O=sec'2 0<0<7x, 0#7x/2
sec0=2 0<0<rx, O0+x/2

sec€=L=2 cos9:l
cos@

0= cos_l(l)
2




